TESEERR - TSR ERR (1 ER

TWREERXE - T REHAERXE  XEE

T T
i i = L =
) \'“%\ﬂn\i\ \\\1‘5"\ \"' o )
= N A -
IR i

R

B = A plhn
I R S (LA T A

R

5

= ) ‘ fé\; 4}
o S\

0 500 1,000m
ey —
1/25,000

COMRIE, B ERROKRDER T, BEFEITOHEHRER25000 GhRER) Z.

BELI-BDTHD, (REBES FTH25EE F4525)

BRRRDIELRE SUER D FRiR
X 5 & = 102023-24

X & £ &M

Fr & b REAFRABRLKETRE

ITRREFERRE

50

1/2500

TEZEDOFHESIATMUTOEE. A
ZDBEFLDHDI100kN/ MEIBZ BRI

+IRE

RAZER [T1EZFOHBEOSEAIMEEZHRIE

X1

ENLUSNDRE

BENLDNOFRKME(KN/m) 58.2
BHEORK (M) 1.0
HIEICKD N DRKIE (KN/m) 11.6
HERDOZRK(mM) 2.3




